Estimated_Earmings >= 617e+3
al

Estimated_Earnings >= 469e+3

Estimated_Eamings >= 1e+6

Estimated_Earnings < 946e+3

1_Earnings < 3.

‘Estimated_Earnings < 4 5e+6.

Estimated_Earnings < 14e+6
]

Estimated_Earnings >= 4.8e+6

V= Jmated_Eamings < 19e{

Estimated_Earnings >= 5.4e+6

Estimated_Earnings >= 16e+6 - Estimated_Earnings < 5.2046

Estimated_Earnings < 7e+6

- Estimated_Earnings >= 32e+6.

Estimated_Earmings < 36e+6

Estimated_Earnings >= 41e+6
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Estimated_Earnings < 23e+6

Estimated_Eamings >= 26e+6




